
1 2X

2 2X

3

2X

4

2X

FORD F-150 STAKE POCKET MOUNT AND HARDWARE SHOWN
AS AN EXAMPLE - OTHER MAKES AND MODELS MAY BE DIFFERENT 

6 2X

DETAIL A
INSTALLED STAKE
POCKET MOUNT

SCALE 1 : 2

RACK FOOT 5

2X

USED IN PLACE  OF ITEM #4 FOR
MAKES/MODELS THAT DO NOT

REQUIRE THE STAKE POCKET WASHER

MAKE/MODEL & YEAR ITEM #1 ITEM #2 ITEM #3 ITEM #4 ITEM #5 ITEM #6
3/8" X 2" BOLT 3/8" WASHER 3/8" X 1" BOLT 3/8" STAKE POCKET WASHER 3/8" FENDER WASHER STAKE POCKET MOUNT

RAM '02-'08 2 2 2 0 2 HRSPM-10003
RAM '09-'18 2 2 2 0 2 HRSPM-10002

RAM '19-CURRENT 2 2 2 0 2 HRSPM-10005
CHEVY/GM '99-'06 2 4 2 2 0 HRSPM-10001

CHEVY/GM 07-CURRENT 2 4 2 2 0 HRSPM-10004
COLORADO/CANYON 2 4 2 2 0 HRSPM-10004

FORD F-150 2 2 2 0 2 HRSPMF-10001
FORD SUPER SUTY '99-'16 2 2 2 0 2 HRSPM-10004

FORD SUPER DUTY '16-CURRENT 2 4 2 2 0 HRSPMF-10001
TOYOTA TUNDRA 2 2 2 0 2 HRSPMT-10001

NISSAN TITAN 2 2 2 0 2 HRSPMT-10001


	PART DESC.
	Drawing View3
	Drawing View4
	Detail View A (1 : 2)
	Drawing View7


